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ECONOMICS
Course ID : 51616 Course Code : SH/ECO/503/DSE-1.1

Course Title: Economics of Health and Education

Time: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

1. Answer any five from the following questions : 2x5=10
(a) Define ‘Human capital’.
(b) Mention few Public Sources of Health Care Funding.
(c) Mention one positive externality of investment of education in Human Capital.
(d) Define IMR.
(e) What is Academic Inflation?
(f) Mention two economic benefits of public investment in Early Childhood Care and Education.

(g) Write the full form of
(i) AYUSH
(i1) NRHM

(h) Define Health Economics.

2. Answer any four of the following questions: 5%4=20
(a) Discuss the role of ‘Education’ on ‘Human Capital’ formation.
(b) Mention the distinguishing features of Health Economics.
(c) Briefly discuss the causes of market failure in the provision of Health Services.
(d) Briefly discuss the causes of poor health of an average Indian.
(e) Write the determinants of demand for Health and Health Care.

(f) Briefly discuss the shortfalls of Health Care infrastructure in India in comparison to social
need.
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3. Answer any one from the following questions: 10x1=10

(a) How ‘cost effectiveness’ and ‘cost benefit’ analysis are used for economic valuation of
Health Care Programmes.

(b) (1) Highlight the areas of ‘Health Financing’ by Centre and States.

(i) Briefly discuss overall achievements of Education System in India.
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1. Answer any five of the following questions :

@ I AABle 2AeiF Ted wie ¢
(a) Who introduced Permanent Settlement in Eastern India and when?
&, T4 sFerace Bzl Iws 242l B I 2
(b) What is meant by deindustrialization in India?

T SRR FE00 I @RI T2

(c) What is meant by teanant-at-will?

FRFC 261 W7o I @RI 232

(d) Explain the meaning of economic drain in British India.

o arergieT widtafes Mo =g iy e |

(e) When and where did the first railway passenger train start to run?

F(E GR (AT 2 FEFGAIES G Bl 22

2x5=10

(f) What is Commercialisation of agriculture? Mention two Commercial crops in British India.

R e Fe f&iox e gfo alfdfers =icra 9 el

(g) Mention the major items that Constituted Home Charges.

‘@ITBTST SNl S welfT Srad el |

(h) Mention different types of land tenure system in British India.
fafo eraren f[fen ofl 2R (land tenure) S Il |
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2. Answer any four questions: 5%4=20

& I 516 Arad Ted nie ¢

(a)

(b)

(©

(d)

(e)

®)

Explain why expansion of railways was considered obstructive to the development of
irrigation in British India.

=fo* ST @eew TEMRd e [ [gwe! @ o 9 T© [0 @

What is Ryotwari System in British India? Attempt the different forms of Ryotwari System
of land revenue as introduced in India during the British period.

FroeTiT TIT F? SRS [/ v 2:fee areeni aem Tz e gadef
[ AT

Consider the impact of the Great Depression of 1930’s on the Indian Economy.

oo WLGIER TR fefteia it S 2ok e e |

Briefly discuss the Consequence of economic drain from British India. What do you mean
by the term internal drain? 4+1=5

Tfowt eace wdtafes Moo Telwe FCEFE SENv Tl | STerge [eae e Fi
Al e

Mention any two objectives of the Permanent Settlement. Examine whether all sectors of
farm Community were benefitted by the settlement. 2+43=5

o IewAET @ @I 4o Sy e @ T TRMIEE AT SRHAZ. @B AT
Toipe gafest el v e

What is Zamindari System in British India? Compare the economic condition of a ryot
with a Zamindar. 1+4=5

ol eI wfimis TR F2 96 ATE ¢ TG GHEMIET AL ST Tol
|

3. Answer any one question: 10x1=10

@ I GF0 A8 TEF WS ¢

(a)

(b)

What is occupancy tenant? Examine critically the measures adopted by the British
Government to check eviction of tenants. 149=10

Fefeed ee F Ae-Sraw W & [ e o2 Sl SaEvaEs ek
Al |

When did East India Company start working in India? Why did the East India Company
entrust the construction of Indian railways to Private Companies? 2+8=10
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